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’ a _ b _ C
"sin A sin B sin C
’
: a>=0b"+c* —2bccos A,
b* =c*+a*—2cacos B,
’
> =a"+b*—2abcos C.
b b
: a=bcos C+ccos B,
1 b=ccos A+acos C,
’
c=acos B+bcos A.
3
b
b
(
), , 6 4
6 C$:15; )
4 ( s
) 15, 15
) b b b C? C%‘ = 9 ’
6 5 , C%C;’ =3 ( 1):
1 6 4
N CiCi=3 N C3C5=9 N CiCi=3
a b b c __a
(1)sin A sin B’(2> sin B sin C’(B) sin C sin A’ (1) a.A.B.C,
(2) b.A.B.C,
(D a?=b*+c*—2bccos A, ’
(4 4 = b e b (3) ¢ .A.B.C.
(20 =c*+a*—2cacos B, sin A sin (A+O)’ sin B sin (A+B)
(3)c*=a®+b*—2abcos C. ()¢ — a D a _ b
sin C sin (B+O)’ sin (B+C) sin B’ ’ ’
b _ < c __a "
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’ ’ CZ:6( )a

. b —att a0
. con = = (g ) I (T ) ]
s ; Ot —a’ . a’ & —b
2bc 2ac ’
, cos(C= 1 ~[2(a* bt — ) )=
4abc”
at+o—¢f
1) ’ ’ 2(1/)
F=a*+b*—2abcos C.
A+B+C=180°,
2. Ja:ccos B-+bcos C,
R R b=acos C+ccos A.
, . R A+B+C=180°
A+B+C=180°, ’
a _ b
sin A sin B’ 3
b o«
sin B sin C
’ . = =
31
: =
A+B+C=180°, ,
Ja2=/)2+cz—2/Jccos A, a b c
. 24y B sinA:kf,sin B:?,sin C:kf(k>0)q [@D)
h* =a*+c* —2accos B.
. . cos A= —cos (B+C) =sin Bsin C— cos
cos C=—cos (A+B) Beos C,
=sin Asin B—cos Acos B cos Bcos C=sin Bsin C—cos A,
=/ (1—cos’A) (1—cos’B) —cos Acos B » cos’B cos’C=sin’B sin’C+
Bt o cos* A—2sin Bsin Ccos A.
¢t —a’
cos A = 2be ’ cos B = (1—sin’B) (1—sin*C) =sin’B sinC+ (1
At —p —sin’A) —2sin Bsin Ccos A.
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sin® A=sin’ B+ sin’ C—2sin Bsin Ccos A.

(2
(D @2 ,
a* =b"+c* —2bccos A,
=
a*=0b"+c* —2bccos A, @))
b* =a*+c*—2accos B . (2)
(1 —(2)
a*—b*=b"—a*—2bccos A+2accos B,
2(a”—0b")=2c(acos B—bcos A).
=t (3)

"~ acos B—bcos A

(€D (L, ="+

@’ b )2*2/7(—612_]72 )cos A.

(acos B—bcos A acos B—bcos A

,  (@®—b") (b sinfA—a* sin®B)=0.

a*—b"=0, a=bh.
A=D1,
a _ b

sin A sin B

a’ sin? B—b? sinA=0,
asb,sin A,sin B ,

asin B=bsin A,

a _ b
sin A sin B
32
=
b* =a*+c* —2accos B, (L

¢ =a*+b*—2abcos C . (2
(H+2
' +c*=2a" +b"+c" —2accos B—2abcos C,

, a70,

a=bcos C+ccos B.

b

=
b=acosC—+ccosA,
cosczibiczoS A. (D

c=acosB+bcosA,
c—bcos A

a

cosB= (2)

a=bcosC—+ccosB,

. c—bcos A

(L. (2
. b—ccos A+C

a

a=b

,  a*=0b"+c*—2bccos A.

b

a.b.c
180° A.B.C,
a.b.c
180° A.B.C, N
. ab,c
A.B.C
a.b.c s a.b.c
s A.B.C.

a*=b"+c*—2bccos A.
|cosA| <1,
b* +c* —2bccos A<b® +c* +2bc,
b* +c* —2bccos A<(b+o)2

a*<(b+o)h
a=>0,b+c>0,
a<b+ec
Jb<atc,c<<bta
savb.c
. A a ;

’

a’>=b>+c*—2bccos A'.
a* =b"+c* —2bccos A,
( 26 )
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cos A" =cos A, R
A A 0°  180° ,
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